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2. Compute the derivative y'(x) of
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point is s(t) = —6t% + 36¢% — 54¢. Determine the acceleration Y
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3. The dis\ance of an glfject from its startiny

of the oByect whyffever its velocity is zero s 0 < t < 4.
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4. Consider y(x) defined implicitly by /
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4. Consider y(x) defined implicitly by
(@ +y)*=y.
Compute y'(x) and the slope of y(x) at (x,y)=(4,4).

Screen clipping
taken: 10/23/2022
7:02 PM

/ 2
011 ] 3(%@)”3—2

5

dx d

J.—,

_/3

z (,(y>

g (1) y1)e

%f% 4@

5. The hypotenuse of an isosceles right triangle decreases in length at rate 4m/s.
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a) At what rate is the area of the triangle increasing when the legs are 5m long?

b) At what rate are the lengths of the leg

¢) At what rate is the area of the triangle changing when the area is 4m??
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